KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL

Form ACO-1 September 1999 Form Must Be Typed

WICHITA, KS

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32432	API No. 15 - 185-23522-00-00
Name: LaVeta Oil & Gas, LLC	County: Stafford
Address: P.O. Box 780	SW NW Sec. 31 Twp. 21S S. R. 11W East West
City/State/Zip: Middleburg, VA 20118	780 feet from S /(N) (circle one) Line of Section
Purchaser: Plains	330 feet from E / W (circle one) Line of Section
Operator Contact Person: Bennie Griffin	Footages Calculated from Nearest Outside Section Comer:
Phone: (<u>620</u>) <u>458-9222</u>	
Contractor: Name: Warren Energy	Pohort Sicobor
License: 33724	Cond Lille
Wellsite Geologist:	
Designate Type of Completion:	Elevation: Ground: 1778' Kelly Bushing: 1786'
New Well Re-Entry Workover	
✓ Oil SWD SIOW Tem	And
Gas ENHR SIGW	1 661
Dry Other (Core, WSW, Expl., Cathodi	Multiple Stage Cementing Collar Used? Yes V No
If Workover/Re-entry: Old Well Info as follows:	, 000
Operator:	If Alternate II completion, cement circulated from
Well Name:	ON OTHER
	Drilling Flyid Mongroment Disp. A.I. T.
Original Comp. Date:Original Total Depti	(Data must be collected from the Reserve Pit) 12 - 12 - 08
Deepening Re-perf Conv. t	Chloride Content ppm Fluid volume hhls
Plug Back Plug Back T	Dewatering method used
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Chamter Name LaVeta
Other (SWD or Enhr.?) Docket No	
7/27/08 8/3/08 8/14/0	Lease Name: Heyen CJ#1 License No.: 32432
	letion Date or mpletion Date Ouarter NW Sec. 32 Twp. 22 S. R. 11 ☐ East ✓ West County: Stafford Docket No.: D02847
Kansas 67202, within 120 days of the spud date, reconstruction of side two of this form will be held confider 107 for confidentiality in excess of 12 months). One confidentiality in EXCEPTS MUST BE ATTACHED. Submit CP-4 form with the confidential transfer of the confidential t	rm shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, completion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Initial for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-by of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations or herein are complete and correct to the best of my knowle	romulgated to regulate the oil and gas industry have been fully complied with and the statements edge.
Signature: Simm C. Striff	KCC Office Use ONLY
Title for duction Many Date: 16	Letter of Confidentiality Received
Subscribed and sworn to before me this 15 day of	October If Denied, Yes Date:
20.08. 1 1	Wireline Log Received RECEIVED
20 VI	Geologist Report Received KANSAS CORPORATION COMMIS
Notary Public:	——————————————————————————————————————
Date Commission Expires: 7-17-12	ELIZABETH FI. HEILBRUN
	NOTARY PUBLIC CONSERVATION DIVISION

Operator Name: LaV	eta Oil & Gas, LLC			Lease Na	me: Robert Fisc	her	Well #: 1	4	
Sec Twp2	1S S. R. 11W	☐ Eas	st 🗹 West	County:	Stafford				
tested, time tool ope temperature, fluid rei	how important tops a n and closed, flowing covery, and flow rates s surveyed. Attach fi	and shu if gas to	it-in pressures, o surface test, a	whether shut- long with final	in pressure read	hed static level, hydr	ostatic pressu	tests giving interval ures, bottom hole ded. Attach copy of al	
Drill Stem Tests Take		<u>Z</u> \	res 🗀 No		✓ Log Fo	mation (Top), Depth	and Datum	√ Sample	
Samples Sent to Ge	ological Survey	<u></u> \	res 🗹 No	i N	Name Douglas Shale		Top 3068'	Datum	
Cores Taken			res 🔽 No	i	Brown Lime		3166'	-1282 -1380	
Electric Log Run (Submit Copy)		<u>~</u>	∕es ∐No	į,	KC Lansing		3192'	-1406	
List All E. Logs Run:				į į	Base KC		3430'	-1644	
Dual Induction Dual Compens Sonic Cement			Simpson Sand Arbuckle		3500' 3524'	-1714 -1747			
!		Reno			New Use				
Purpose of String	Size Hole	Si	ze Casing	Weight	Setting	Type of	# Sacks	Type and Percent	
surface pipe	Drilled 12 1/4"	8 5/	et (In O.D.) 8"	Lbs. / Ft.	Depth 264'	Cement	Used 225	Additives 3% cc/2% gel	
production	7 7/8"	4 1	í2"	10.50#	3585'	A22	150	60/40 poz	
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Тур	ADDITIONAL	CEMENTING #Sacks Use	/ SQUEEZE REC		Percent Additive	PS	
Shots Per Foot	PERFORATIO Specify F	ON RECO	RD - Bridge Plug Each Interval Perl	s Set/Type forated	Acid	Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth			
3562-66'	4 holes/ft Arbuck!	e 		TABLE - 1995 - 40 100/1 00 millionerschaft aus				<u></u>	
3500-02'	4 holes/ft Simpso	<u>n</u>							
TUBING RECORD	Size 2 7/"8	Set At 3569'		Packer At N/A	Liner Run	Yes Z No		: :	
Date of First, Resumera 8/18/08	d Production, SWD or Er	nhr.	Producing Meth	******	lowing ZP	umping ' Gas Li	n [O	ner (Explain)	
Estimated Production Per 24 Hours	Oil E	3bls.	Gas	Vict	Water	8bis. 6	Gas-Oil Ratio	Gravity	
Disposition of Gas	METHOD OF C	OMPLETIO	NC	<u>i</u>	Production				
Vented [Sold (If vented, Su	Used on Lease bmit ACO-18.)		Open Hole Other (Specil		Dually Comp.	Commingled _			



Pratt

LA VETA OIL & GAS LLC

P O BOX 780

MIDDLE BURG ATTN:

VA 20118

BENNIE GRIFFIN

PAGE CUST NO INVOICE DATE 2 of 2 1970-LAV006 08/05/2008

INVOICE NUMBER

1970002307

LEASE NAME

Robert Fischer

WELL NO.

COUNTY

Stafford KS

STATE

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT **BENNIE GRIFFIN**

1970-02318	EQUIPMENT #	PURCHASE OR	DER NO.		TERMS Net 30 DAYS	DUE DATE 09/04/2008
Additives			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
Salt			718.00	EA	0.500	359.00 T
Additives <i>Sugar</i>			50.00	EA	2.000	100.00 T
Dement 60/40 POZ			25.00	EA	11.000	275.00 T
Cement AA2 Cement			150.00	EA	16.600	2,490.00 T
upervisor Service Supe	rvisor Charge		1.00	Hour	175.000	175.00
						REGEIVED NSAS CORPORATION COMMI OCT 17 2008 CONSERVATION DIVISION WICHITA, KS

BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

SUBTOTAL TAX **INVOICE TOTAL**

9,347.36 286.97 9,634.33



Pratt

LA VETA OIL & GAS LLC

P O BOX 780

MIDDLE BURG

VA

20118

ATTN:

BENNIE GRIFFIN

CUST NO

INVOICE DATE

1970-LAV006

08/05/2008

INVOICE NUMBER

1970002307

LEASE NAME

PAGE

1 of 2

Robert Fischer

WELL NO.

COUNTY

Stafford

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT

BENNIE GRIFFIN

JOB # 1970-02318	EQUIPMENT # 301	PURCHASE	ORDER NO.		TERMS Net 30 DAYS	DUE DATE
						09/04/2008
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
or Service D	ates: 08/04/2008 t	o 08/04/2008				
970-02318				İ		
1970-17882	Cement-New Well C	acing 9/4/00	1		j	
Pump Charge-	Hourly	asing 014100	1.00	1	2.22.22	
	rge; 3001'-4000'		1.00	Hour	2160.000	2,160.00
Cementing Hea	ad w/Manifold		1.00	EA	252.000	
	iner Utilization		1.00		250.000	250.00
Charge				ĺ		
Cement Float E	Equipment		1.00	EA	220,000	222.22
Auto Fill Flo	oat Shoe		1.00] ~^	330.000	330.00
Cement Float E	quipment		1.00	EA	270.000	370.00
Basket 4 1/				1 - ' '	270.000	270.00
Cement Float E			7.00	EA	70.000	490.00
	ratchers Cable]		430.00
Туре						
Cement Float E	Equipment		1.00	EA	80.000	80.00
Top Rubbei	Cement Plug					30.50
Cement Float E	quipment		5.00	EA	85.000	425.00
Turbolizer						
Mileage	CHARLES OF S		175.00	DH	1.400	245.00
	d Mixing Service					
Charge Mileage						
	oment Mileage		100.00	DH	7.000	700.00
Mileage	oment wheage		400.00	5.1		
	nd Bulk Delivery		408.00	DH	1.600	652.80
Charges	d bulk belivery					
Pickup			50.00	Hour	4.250	240 50
Unit Mileage	Charge(Pickups,		30.00	Houi	4.250	212.50
Vans, or Ca	rs)					
Additives			36.00	EA	4.000	144.00
De-foamer					1.500	177.00
Additives	r	RECEIVED	113.00	EA	7.500	847.50
FLA-322	7 00 2421444	RPORATION COMMISSION				•
Additives	VW0942 CO	=/=	106.00	EA	5.150	545.90
Gas-Blok	ົດເ	CT 1 7 2008			i	
Additives <i>Gilsonite</i>	Ů.		750.00	EA	0.670	502.50
Additives	CON	SERVATION DIVISION				
Mud Flush	00	WICHITA, KS	500.00	EA	0.860	430.00
muu i iuoii					i	

ALLIED CEMENTING CO., LLC. 32820

REMIT TO	P.O. BOX 31
•	RUSSELL, KANSAS 67665

SERVICE POINT:

Great Brud Ks

	CEC	TAVO	DANCE	CALLED COM	10011000	Tion	105
DATE 7-27	SEC.	TWP. 215	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
Robert		1				COUNTY	STATE
LEASE Fibra	WELL#	1		soes I mile 8	1984 TO YOAU	Statton	પડ
OLD OR NEW (C	ircle one)		1/2 No-+h	East into			
CONTRA CTOR		–		OWNER 1.	veta a		
CONTRACTOR TYPE OF JOB		7 1 1		OWNER 54	VETA 6	1 643	
HOLE SIZE 12		TD	265	- CEMENT			
CASING SIZE &			TH 255	AMOUNT ORI	DERED 225	8x 206 cc.	2% Gel
TUBING SIZE		DEP		150 [#] \$	use-		
DRILL PIPE		DEP	TH				
TOOL		DEP		-	205 4	- 17-60	
PRES. MAX 2 MEAS. LINE	00		IMUM 4 DE JOINT 15		252 VA		3,03130
MEAS. LINE CEMENT LEFT IN	٠	15 A		_ POZMIX _ GEL	5 411	_@	101.25
PERFS.	L30.	<u> </u>	<u>T</u>	_	704	@ = 150	340 CT
	15,25	BRS -	fresh water	ASC		@	
		IPMENT	, , , , , , , , , , , , , , , , , , , ,	_ 1100		_	
	EQU.	ATERICA N. R.				<u> </u>	
PUMP TRUCK	CEMENTE	R La	yue - 0				
	HELPER						
BULK TRUCK						_@	
#342	DRIVER 4	<u> </u>	<u> </u>			_ @	
BULK TRUCK						- @	
#	DRIVER			- HANDLING_	23724	@ 2.25	533.25
				MILEAGE	237.44	1D 24	568.80
	REM	ARKS:				TOTAL	460137
Pipe ap	bottor	5 B-1	each circulat	-:u-J			
m'1x 225 8x	<u> 3%«</u>	2%6	el Shut	_	SERVI	CE	
Down Re	lease f	bus a	nd Displace				
			or and shut				
JU/ CKW	<u> </u>	Sid ch	rculation		CHARGE		991,00
wash up	Kis_I	المسما		EXTRA FOOTA	AGE24	-@ 	11800
						@ 7.00 @	_ Bow
				- MANIFOLD_ _ Hzad_	2 4	@ 110.00	110,00
					,	@ @	
CHARGE TO: L	11244	ail	(4a5				
				~		TOTAL	1269.0D
STREET				_		101.23	
CITY	STA			-	TTIC A FT OAT		-
		KANSAS C	ORPORATION COMMISSIO	M/l	LUG & FLOAT		
		0	CT 4 7 0000	Meggso	Plus		
		Ū	CT 1,7 2008			<u>@</u>	
		CON	SEDVATION DIVISION				
To Allied Cement	ting Co., L	LC.	WICHITA. KS				
You are hereby re						@	
and furnish ceme		-					
			e above work was			TOTAL	66.00
done to satisfaction			of owner agent or dead the "GENERAL"			10 Int	11
			on the reverse side	SALES TAX (1)	Any)		_
I EKIMS AND CC	וטנגנטוייטני	AS HERE	on the levelse side.	•	GES		
_		~	,				
PRINTED NAM <mark>A</mark> .	120	CX -2	Cumm's	NS DISCOUNT		IF PAID	IN 30 DAYS
,		•					